Simplifying Expressions (B)

Simplify each expression.

1.S5a—a+14+2—-1—c 6. —u+u*+uy+y*+y+y*
2. 1+ V430 17 4y 7. 6 +4ux+2u—u’ —1+4
3. x+1+2vx—vx+x+x 8. S5cy+c—3+cy—6¢cy+3
4. —v—=5v+142z—vz+1 9. 142+a*+ay+5y—y
5.bv+14+6b+5+646 10 3—u+1—-4v+uv—u

Math-Drills.com




—_—

\S]

(98]

9

Simplifying Expressions (B) Answers

Sa—a+14+2—-1—-c
=4a—c+2

1V V3V v ey
— 6 +v+1

X+ 14+2vx—vx+x+x
=vx+3x+1

= —vz—6v+2z+2

. bv+14+6b+5+6+6
=bv+6b+18

—v—=5v+1+2z—vz+1

Simplify each expression.

6. —u-+u*+uy+y +y+y
= w4 uy+2y  —u+y

7. 6+dux+2u—u*—1+4
= dux — u* +2u+9

8. 5cy+c—3+cy—6¢cy+3
=c

9. 14+24a*+ay+5y—y
=a*+ay+4y+3

10. 3—u+1—4v+uv—u
=uv—2u—4v+4
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